DIVISION WITH A REMAINDER (H - SET 2)

DIVISION WITH 1 TO 10 Name:
Time: Score: y—
21 46623 + 10 = 260 9020 + 7 =
212) 7205 = 6 = 227) 52580 = 7 =
213) 8201 = 1 = 228) 1167 =7 =
211) 54928 = 0 = 22090 17094 = 4 =
215 14800 + 7 = 20 4049 -4 =
216) 5297 = 3 = 231) 12368 + & =
217 16767 = 3 = 232) 12538 + 2 =
218) 19407 = 5 = 233) 33001 = 10 =
219 19313 =9 = 231) 54992 = 8 =
200 32740 + 10 = 2) 63943 + 9 =
21 26832 +5 = 230 1908 + 3 =
222) 72522 = 8§ = 237 11659 = 8 =
223) 92355 = 3 = 238) 8H98 + 1 =
21) 94399 = 4 = 239) 21612 = 3 =
225) 38826 = & = 2100 35974 + 6 =
Mathematics: Division - Level 7 - Horizontal - Set 2 9 culu
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